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Question Id : 3421238883 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
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Question Numbers : (1 to 5)



Question Label : Comprehension

The following table shows the number of people (in lakhs) living in five different cities A-E
along with the ratio of number of people in three different age groups I IT and IIT among them.
People are classified in three age groups as Group-I: 0 to less than 21 years; Group- II: 21 to less
than 41 years nd Group-III: 41 years and above. Based on the data in the table, answer the
questions that follow,

City- wise Number of People
Ratio of Number of people in Age-groups
City Number of people (in lakhs)
;01
A 144 12347
B 16 233
C 192 N
D 128 3:1:4
E 12 1231

Sub questions

Question Number : 1 Question Id : 3421238884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of people of age group-I of city A and D together to the number
of people of age group-I of city C and E together?

132

4.3:2

Options:
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 3421238885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Number of people in age group Il of city D is % more than that of age group II of city
B.

1. 7%

t‘ilof
i

b

2
63%

el

4. 6%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 3421238886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The difference between the total number of people in age group II of city A and B together and
age group III of city C and E together is

1. 2 lakhs
2.1.2 lakhs
3. 2.4 lakhs

4. 0.8 lakhs

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 3421238887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Number of people of age group I is more than 4 lakhs in exactly city/cities.

|. one
2. two
3. three

4. four
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 3421238888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For city C, if the number of people who will turn 21 years of age next year is 16000; the number
of new born will be 32000, and the number of people in age group III will remain the same, then
what will be the new ratio of people in different age groups?

1.31:31:60
2.31:32:60
3.31:32:36

4.21 :23:35
Options:
1.1
2.2
3.3
4.4

Question Id : 3421238883 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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A 114 1:3:1
B 16 2323
C 192 1-1:2
D 128 314
E 1 1:3:1

Sub questions

Question Number : 1 Question Id : 3421238884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4.3:2
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 3421238885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 6%
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 3421238886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 3421238887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. U
2.ql
3.dH
4. 9R

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 3421238888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR € (o7, T el a4 2.1 T8 1 17 o i+ et vl bl TR 16000 8, il ol e
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1.31:31:60
2.31 +32 260
330532056

4. 2122825
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123352
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421238889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following tool is used to create pre and post-session polls to gauge students learning
from each session?

1. Mentimeter
2. Github

3. Plotagon

4. Labster

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 3421238889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. filegd
3. T

4. cfefcX
Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 3421238890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The style that involves a student's tendency to take more time to respond on the accuracy of
answers is known as:

1. Impulsive style
2. Surface style
3. Reflective style

4. Manipulative style

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 3421238890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 3D el
. Tefe! et
3, fele et
1. OGS el
Options :
1.1
2.2

3.3
4.4

Question Number : 8 Question Id : 3421238891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“If a student gets a part time job in an architect's office and applies what was learnt in geometry
class to help the architect analyze a spatial problem that is quite different from any problem the
student encountered in geometry class™ is an example of learning?

. Near transfer
2. Forward-reaching transfer
3. Low- road transfer

4, Far transfer
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 3421238891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. e 30

2. ST IR
3. Fg - sjo
4. QR

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 3421238892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1 LISTII
(ICT Tools) (Example)
A |Learning Management System (LMS)| L | Zoom
B. | Virtual Reality II. |Canvas
C. | Video Conferencing III. | Audacity
D. |Podcast IV. | Virbela

Choose the correct answer from the options given below:

1. A-1IV, B-1, C-II, D-1II

3

CA-L B-III, C-1IV, D-II

sl

. A-II, B-1IV, C-1, D-I11

4. A-IIL B-11, C-I, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 3421238892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-1, C-II, D-III
2. A-1, B-III, C-1IV, D-11
3. AL B-1V, C-1, D-III

4. A-III, B-1I, C-1, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 3421238893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of positive-transfer of learning?
1. Mastering algebra helps in understanding calculus.
2. Learning to play piano makes it more difficult to learn the violin.
3. Knowing how to drive a car makes it harder to learn how to ride a bicycle.
4. Learning to speak French hinders learning Spanish.

Options :
1.1
2.2
3.3
4.4



Question Number : 10 Question Id : 3421238893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

75 5 F DI SHUTH & YHRIHD IR0 DI FGIGIU G 2
1. SISO fdh 31t Udiordl el (dhedperd) & e H Ggd glal o
2. O &7 ERa U arafer HiRaT e did- gl ol g
3. BR IAMT A F gl I YRaT 3ifaidh HId gl Sl )
4. WITGT SIcHT Rg 8 T HTeT SRg | a1 3l §

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 3421238894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A quantitative research would be mainly concerned with

. measurement
causality
context

. replication

Onwp

Choose the correct answer from the options given below:

1. A. B and C Only

[

. A, B and D Only
3.B, C and D Only

4. A. C and D Only

Options :
1.1
2.2
3.3
4.4



Question Number : 11 Question Id : 3421238894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A, HIUA
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c. g4

D. Ufdpid
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3. Hdd B, C 3ARD
4. hdd A, C 3ARD

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 3421238895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The criterion of ‘credibility” in qualitative research 1s equivalent to which of the following criteria
in quantitative research?

1. external validity
2. internal validity
3. objectivity

4. reliability

Options :
1.1
2.2



3.3
4.4

Question Number : 12 Question Id : 3421238895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. TR
4. oyt

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 3421238896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify correct statements about content analysis.

A. The main vse of content analysis has been in the examination of printed texts and
documents.

B. Content analysis lacks transparency.
C. Coding is crucial in content analysis.
D. It is almost impossible to devise coding manuals that do not entail some interpretation on the

part of coders.
Choose the correct answer from the options given below:
I.A,Band C Only
2.B, Cand D Only

3.A, Cand D Only

4. A, Band D Only

Options :



1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 3421238896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 3421238897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The numerator and denominator degrees of freedom are used in which of the following test-
statistic in hypothesis testing?

L.t
2E

3.£

4, ;13 (chi square)

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 3421238897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L.t
2.F

3.

4, yF (chi square)

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 3421238898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sharpness of the peak of a statistical distribution is represented by

1. Kurtosis

(i)

. Skewness
3. Mean

4. Median
Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 3421238898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 3421238899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A symbol that represents an idea or thought in non-verbal communication is referrred to as

1. Hidden symbol

2. Effective symbol
3. Abstract symbol
4. Ideational symbol

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 3421238899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 3421238900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In any conventional media, the point of content production and the point of consumption involve

. Temporal separation

2. Imaginary hurdles

3. Free marketing

4. Technological over- dependence

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 3421238900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 3421238901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What do people basically want to extract from the communicated message?

1. Compulsions

2. Meaning

3. Synergy

4. Behavioural pattern

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 3421238901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

[

Question Number : 19 Question Id : 3421238902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Making way for technologies of automation is transformation of modern society

1. Cyber-nation
2. Mechanical

3. Political

4. Artificial
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 3421238902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 3421238903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the early stages of development, broadcast media were marked by

1. Positive communication

(i)

. Negative communication
3. One-way communication
4. Two-way communication

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 3421238903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 3421238904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If a person travels in a car at a sped of 36 kimv/hour, then he will reach his destination on time. He

covers half the journey in (4/5 ) time. What should be his speed for the remaining part of the
journey so that he reaches his destination on time?

L. 80 knmv'hour
2. 75 km/hour
3. 90 km/hour
4. 85 km/hour

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 3421238904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 80 fobHt/ ¢
275 fobHlt/ ¢
3.90 fopelt/ ¢
4,85 fHl /¢

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 3421238905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Let L and M be the sum and average of four consecutive odd mumbers (a, b. ¢ and d) respectively,

and, P and Q be the sum and average of three consecutive even numbers (x, y and z) respectively.
If M= Q-6 and P=L-16, then M=

1.32
2.34
3.36

4.30
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 3421238905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I b TR AT fa FI3M (a, b, ¢ 3R o) T AT R A AL L 3R Mg 7T i
SHRTC GH TS (x, v 3R z) BT A 3R R HA: P 3R Q B
Ti¢ M= Q-6 3R P=L-16, I M=

1.32

2.34
3.36

4.30

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 3421238906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Three positive numbers are in the ratio 2 : 3 : 4. If the sum of their squares is 2349, then the
numbers respectively are

1. 14, 21 and 28
2. 18,27 and 36
3.16,24 and 32

4. 12,18 and 24

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 3421238906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i ST ST 2+ 3+ 4 o ST H 1 e 3T vl b AT 2349 8, o SRETd 6 il

1. 14.21 3R 28
2.18,27 3R 36
3.16. 24 3R 32

412,18 3R 24

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 3421238907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding scheme the word ‘SCHOLAR is coded as “TEKSQGY". In the same coding
scheme, the word *GREEN’ will be coded as

1. ITGGP
2. HTHIS
3.EPCGP
4, JUHHQ

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 3421238907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o] o TS H *SCHOLAR WG 1 “TEKSQGY' & U H fied b1 T §1 381 e
TioT H, *GREEN” Y16 ! frg 0 | i i o 2

1. ITGGP
2. HTHIS
3. EPCGP
4, JUHHQ

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 3421238908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In what time will a sum of money double itself at the rate of 12.5% per annum simple interest?

1. 10 years
2. 8 years
3. 6 years
4. 12 years

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 3421238908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qIftch WL SIS B 12.5% Bl G Y Dlg SR oo T 1 g7IHI gl <o
L 109y

2.8y
3604
4. 127N

Options:
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 3421238909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



*Abhay’s mind is a cave, deep, dark and full of bats." Which of the following is correct about the
above statement?

L. It contains analogical argument.
2. It is a valid and sound argument.
3. It contains analogy.

4, Tt 1s a valid but not a sound argument.

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 3421238909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 3421238910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following terms in order of decreasing in intension?

A. Baseball player
B. Athlete

C. Fielder

D. Ball plavyer

Choose the correct answer from the options given below:

G, DADB

(o

B, B C

(5]

CA, DB

4.B,D, A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 3421238910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. 94T Raare!
B. TYdiic
C. i
D. did - fgarat

I feu U 9 el § U T 3R &1 994 DIfSIU:

1.C,D,A, B

(]

B, DO

(5]

CA DB
4.B,D, A, C

Options :
1.1



2.2
3.3
4.4

Question Number : 28 Question Id : 3421238911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I have read that one aspirin taken everyday reduces the risk of heart attack. Why not take two a
day and double the protection." Which informal fallacy is committed in the above statement?

. Fallacy of composition
2. Begging the question
3. Hasty generalisation

4. Slippery slope

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 3421238911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. Gefa ey
2. YT Y
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4. TOue gad e

Options :
1.1
2.2
3.3
4.4



Question Number : 29 Question Id : 3421238912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. Some beverages are not liquids.

B. Some beverages are liquids.

C. Some non-liquids are not non-beverages.
D. Some beverages are non-liquids.

Choose the correct answer from the options given below:

1. Aand B Only

-2

.B. C and D Only
3. B and C Oaly

4. A, C and D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 3421238912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafafad 0 4 oF Y &yq difdd *U Y 9aded g 2

A P UTGI Tl g

B. P9 U4 Ed g

C. PO TR-GdTR - UGl ¢
D.$SUIIR-gd g

A fGu e fasel & 9 HgT IR D1 9G1 BT
|.had A 3R B

HddA B, C AR D

3.HAdB 3R C

4. Hdd A, C 3R D

Options :
1.1
2.2
3.3
4.4

(o

Question Number : 30 Question Id : 3421238913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to classical Indian School of Logic (Nyaya) the statement “fire is cold because it is a
substance™ is fallacious because:

L. It has a non-inferentially contradicted middle term.

2. The middle term has an impossible locus.

3. The middle term instead of proving its presence in major term proves its absence.

4. The major term proves Its presence

Options :
1.1
2.2
3.3
4.4



Question Number : 30 Question Id : 3421238913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R YT T o Tl () o 39R 98 Y - <341 Siclel ¢ alfeh U8 U Uy
AR

1. 30 T TR SIS 0 § areiiad 58 0 3

2, W9 UG ] U 3RUHd (19U 5|

3. 91 UG, 59 UE H 3901 UM g e o Toird S9! SFuieufd fig e g |
4. T UG, 98I UG H I oiJuiRifd fiig e & ool Tue! Jurefd g del g

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 3421238914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In computer Networking, MAC addresses are unique to each device. Which of the following is
the meaning of the term MAC?

1. Medium Access Card
2. Media Address Command
3. Modem Addressing Card

4. Media Access Control

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 3421238914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR el H MAC TS Hlh SUSRY o (oL g (G1a) Bld €1 MAC s il
fFrgfeed & g i g o

| HifSar vy F1s
2, HifsT vgu wHis
3. HisH TSR 1S
4. Hifean vt dheldl

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 3421238915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following “Digital India” themes is incorrectly matched with its purpose?
1. Spoken Tutorial- Learn various free and open-source software all by oneself
2. FOSSEE- Reduce dependency on proprietary software in Educational Institutions

3. e-Kalpa- Create Digital-learning environment for design

4. e-ShodhSindhi- Spread education in Embedded systems and Robotics

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 3421238915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Frafefad & ° o 1 -fsfoied 2fsar 9 SR SHT Jaiei Afed 781 ¢ 2
1. Wi/ SICIRE - 1 TS 31T - G QIHedmR & aR H w2 Wl
2. FOSSEE - Qféfdh G131l # Wiifed dled Gieddy IR (1R & Hf Bl
3. 3. - [SHIEH o foru fSfored - aif aTdraRol 1 Yo & |
4.3 - YRR - Teis s (R U8 Xdifeay 1 e &1 4R & |

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 3421238916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to ICT, which of the following statements is true?

. Global Positioning Systems (GPSs) in cars send signals to satellite which then work out
where they are and send this data back to the car.

2. HTTP stands for HyperText Transfer policy.
3. RAM stands for Rapid Access Menory.

4. Geographic Information System (GIS) is a computer based tool for mapping and analysing
things that exist and events that happen on earth.

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 3421238916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. WA A 37 3 TR e TIamR Ui |
3. 39 (RAM) T 34 XUS TqY T B

4, ST SIS freer Yl IR WG <ol 3R e arell geref & TR 3R
fq2el9T & foft Uh DR SHIRT WM 3|

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 3421238917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Based on the following, which of the following statements is true.
A CD contains 12 music tracks which are of lengths (in minute):
3,7,4,3,5,6,4,5,4,7, 8, 8 and each minute of music requires 12 MB of storage.

1. 512 MB of memory is used for the 12 music tracks.
2. | GB of memory is used for the 12 music tracks.
3. 768 MB of memory is used for the 12 music tracks.

4. If the tracks are to be stored in MP3 format, then each music track will be reduced in size by
90%. The storage that the 12 tracks would require is 69.12 MB.

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 3421238917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 3421238918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-1I with List-IT

LISTI LISTII
{Computer Components) {Description)
A JALU [. |Immediate access storage
B. | Control Unit II. |Carries out arithmetical and logical calculations
C. |Pen Drive III. | Directs the input and output flow in the CPU
D. | Main Memory IV. | Secondary/ offline storage

Choose the correct answer from the options given below:
1. A-II, B-TIL, C-IV, D-I
2. A-IL, B-1, C-1V, D-III
3. A-L, B-III, C-IV, D-II
4. A-IV, B-11II. C-I1, D-I

Options :
1.1



2.2
3.3
4.4

Question Number : 35 Question Id : 3421238918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 91y & 11 B HTH Bl
A |uwayg I | <Y S U9 (ER)
B. [Ge@gie | I |si@viuniy iR aifh® u@ad sl o
c. (3= 11 |4dig H 399e AR 3M3eYC HaTe @ MiaRid &Xdl g |
D. |H9 89N V. |fadiae | 3iE a4 (@Ug) ©Rd

A1 4T U fdhedl # U gt IR &1 994 DI

1. A-IL, B-III, C-IV, D-I

[

. A-IL B-1, C-1IV, D-III
3. A-I, B-II, C-1IV, D-II

4. A-1V, B-1II, C-I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 3421238919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



International Solar Alliance (ISA) is the alliance of countries, most of which lie.
1. Between North Pole ad Tropic of cancer
2. Between Tropic of Capricorn and South Pole

3. At equator
4. Between Tropic of cancer and Tropic of capricorn

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 3421238919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SARIPTT GR Gl (SZTHY) U G BT 16eilS 3, o1 & sifdapi
1. JORl 4 91 b 31 o T YT ¢

2. T 3T d1 <f&uft 4d & Ay [Yd g |
3. YO 3@ R [ g
4. Hp 1 a1 PR 341 & 7 YT 8

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 3421238920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Biomass

. 1s a carbon cycle neutral fuel

. has significantly higher calorific value then coal

. can be converted in solid, liquid and gaseous fuels
.can be converted into Producer Gas

. can not be obtained from energy crops

MmoOnwpe

Choose the correct answer from the options given below:

1. A. Band C Only

(o

. A, C and D Only
3. B.D and E Only
4. A, B and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 3421238920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SN

A. BT g% MRUS 38 B

B. Bl U HIHI 3iedh IWHY HH 4dl g

C. 319, d¥d 3R 19 59+ H ufvaldd foar ot Ul g
D. USSR 719 § uRafdd fdbar o 9&di g

E. 3ol BOdl U U Jel {1 S 9T |

i feu MU fadhedl © O gat 3R &l 994 SHifoie:
1.$dd A, B3R C

2. Hdd A, C 3R D
3. %9 B. D 3R E
4. HAdA. B3R E




Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 3421238921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hydrochlorofluorocarbons (HCFCs), replacement for chlorofluorocarbons (CFCs), have to be
phased out completely by the year

1. 2025
2.2030
3.2035
4.2040

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 3421238921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TARTKIRIBIH (HUH!) B! 68 98 7 g eldRITRIpIed (T 9 0 ) gRI i
e iR i T g 2

1.2025

2.2030
3.2035

4.2040
Options:
1.1
2.2
3.3



4.4

Question Number : 39 Question Id : 3421238922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Softening of hard water is done by

A. Aeration

B. Boiling

C. Lime soda
D. Ozonation

E. Ion exchange

Choose the correct answer from the options given below:

1. A.Band C Only

(]

.B. C and E Only

(]

. B, C and D Only
4. C,D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 3421238922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. didd

B. Y

C. T TR

D. TSI
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I feu MU 9 el & 9 FgT SR b1 T8 BHIfSIT:
l.hdd A. B3R C

$HId B, C IRE

. Hdd B, C 3R D

4. HddC.D AR E

Options :
1.1
2.2
3.3
4.4

[

(]

Question Number : 40 Question Id : 3421238923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Due to over fertilization of lakes, quality of fish produced

1. does not change

b3

. Impaires

(el

. Impoves
4. first improves then impaires

Options :
1.1
2.2
3.3
4.4



Question Number : 40 Question Id : 3421238923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2l & ifa3dSdu & SR, IATGd HSferd! &f I0raw -
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Options :
1.1
2.2
3.3
4.4

—a

[

(el

Question Number : 41 Question Id : 3421238924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Knowledge Commission suggested that the proposed national universities should
not have

. Affiliated colleges
2. Public funding
3. Linkage with industries

4. Teaching departments

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 3421238924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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). Graviid e
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4. T4 fam
Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 3421238925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following was the principal of Bengal National College, established in 19067

1. Motilal Ghosh
2. Aurobindo Ghosh
3. Satish Chandra Mukharjee

4. Bipin Chandra Paul

Options:
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 3421238925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. 3RfdE T
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Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 3421238926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Most recommendations of the Calcutta University Commission were influened by

1. The Hunter Commission
2. Wood's Dispatch
3. The Haldane Commission

4. The Indian Universities Commission
Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 3421238926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 3421238927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following institutions were to play a role in shaping the National System of
Education at higher level under the National Education Policy (1986)?

A. UNESCO
B. UNDP
C.UGC

D. AICTE

E. ICAR

Choose the correct answer from the options given below:

I.A.Band C Only
2.B, Cand D Only
3.A,Cand DOnly

4.C,Dand E Only

Options :
1.1
2.2
3.3
4.4



Question Number : 44 Question Id : 3421238927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fefcifa 9 fobe TRl IR S SR R 19T R 1t 1986) o afvic g e bl
s e T el o

A,

B.J U Sl U
c.gs gl
D.UMR YA
E 3B U U3R

i feu e faedl § ¥ wpt IR BT DI
|, HadA, B IR C

). HqB,C IRD
3. BadA, C IR D
4. $4dC.DIARE

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 3421238928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The education imparted at Nalanda University was both religious and

1. Irreligious

-2

. Entertaining
3. Secular

4. Business- oriented
Options :
1.1
2.2



3.3
4.4

Question Number : 45 Question Id : 3421238928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

icial fayfdeed J ved e 4 3R & PR & Al
. 3feTTHEG

2. HARS®
3. Uy fFRUg
4. ARG

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123353
Question Shuffling Allowed : No

Question Id : 3421238929 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension



Ethical living is concerned primarily with the interpersonal dimension of our behavior. How do
we treat one another individvally and in groups---and increasingly, other species and the
environment? The key here is that morality brings us info contact with others and asks us to
consider the quality of that contact. We start asking ourselves: ‘Is that the way I should treat
someone else?” ‘Ts that the way someone else should treat me?” Because we have the ability to be
critical of our interpersonal behavior and our interaction with animals, we have the ability to
develop codes and norms to guide that behavior and interaction. Those moral norms and codes, in
addition to a set of virtuous character traits, are what we mean when we talk about ethics.

Ethics poses questions about how we ought to act in relationships and how we should live with
one another. Ethics asks us to consider whether our actions are right or wrong. It also asks us how
those character traits that help humans flourish (such as integrity, honest, faithfulness and
compassion) play out in everyday living. Ethical norms and principles have developed over time
and across cultures, as rational people of goodwill consider human relationships and how human
beings act when they are at their best.

This everyday ethical reflection must occur before we can effectively confront the larger moral
questions. A person who wants to take moral leadership in global issues must take special
responsibility for what is going on inside his or her own self—inside his or her own
consciousness—lest the act of leadership create more harm than good. All of us can be leaders for
good; the choice Is ours.

Sub questions

Question Number : 46 Question Id : 3421238930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ethical living is based on

our own virtuous attributes

our behaviour towards other species
our behaviour towards environment
. material satisfaction

O0wp

Choose the correct answer from the options given below:

1. B and C Only

[

. A and B Only
3. A.Band C Only

4. A,B,Cand D

Options :
1.1
2.2



3.3
4.4

Question Number : 47 Question Id : 3421238931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Identify the virtuous character traits which help an individual to flourish in life.
A. Integrity
B. Psychophancy
C. Honesty

D. Compassion
E. Faithfulness

Choose the correct answer from the options given below:
1. A, B, Cand D Only
2. A, Cand D Only
3.A,B,CDandE
4. A, C,D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 3421238932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement is incorrect?
1. Culture is static
2. All cultures have developed their ethical norms and principles over time
3. Rational people of goodwill exist in all cultures
4. Culture is dynamic

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 3421238933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For a good leader it is imperative to have

. resources

[

. daily reflections on his conduct
3. higher educational background
4. belief in spirituality

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 3421238934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quality of our interactions in human relationships is gauged by

1. economic status

o]

. soclal status

e

. Interpersonal behaviour
4. educational background

Options :
1.1
2.2
3.3
4.4

Question Id : 3421238929 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix



Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421238930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. Hdd A 3R B
3. HITA. B3R C

4.A.B.C3RD

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 3421238931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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|, Hdd A, B,C IR D
2. Had A, C IR D

3. AB.CDIRE

4. $A0A. C.DIRE

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 3421238932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3




4.4

Question Number : 49 Question Id : 3421238933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 50 Question Id : 3421238934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

O1d et © gORT 3a1-afdar 1 Tura HEfeiad & gRI a1 Sl ¢ -
1. e fRufd

2, T feyfd

4. Qe gFYH

Options :
1.1
2.2
3.3
4.4

Politics including IR and Studies





